2 NIT2IN? np2nnn

DX NT R W'Y
T"9wn nvw n2wn

18-20 16-18 14-16 12-14 10-12 8-10
(0) yw?D"nw | —2501 A2 (N)(N) ITN 1717 — 0640 mp (o) nianiw? nivTan 1A - 7602 (%)(N) "N ARNa WD - 614 N
qma 1A (a)(n) M n% nn'w - 0642 mip () nianiw? nizTan 1A - 5986 LW
(") yw?0"nw pa —2502 (2)(") 20 N nxNa WD - 616
1 LW
mp (X)) nprnx nimTar—5982
plphl (") TTnIaM-027 X" (D) NWTNNU TIO IR =563 | 8w (1) 2"nneTio p - 305 (X)(N) win pani o'RIp = 5555 | TR (N) 1"nna ot p - 302 (n) nwIn NV TIO! NP - 566 a

N272 (0) wTn Nav 2wt —5983

22 (X)(N) r'way n'wn - 598
n72 (2)(n)  poImw -5981

n22 (D) X'¥N? NIZINTN |'2 — 7600

naT
(2)(n)a'wn narma nxnp — 0010
naT

(n) ' nIT2m xian - 5984
pYahl

mm

mw (N)(N) D'winan - 0634
v (1)(n) o'mann Tnun — 0635
"? (wn)(o) Xxapn nnivorn - 876
"7 (wn)(n) ¥x1pn nnivorn - 878

N () nniwol watn — 0636
M7 (N) niamal nama ana — 0639
YniNa (1)(o) ppxawy - 941
\alliv}

mixa (1)(n) pwna 1wy - 9421
Valliv}

(x)(n) nrooloman-0637
D'"NTI9

(2)(n) xnNn jur niaan - 0638
D'"NTI9

nx" (wn)(o) N mun - 9634
nx (wn)(n) N mwin - 9635

(®)(n) nalwxIN nun — 578

DD
(2)(n) ©Ipn a7y 9¥a—5987
x|

(o) 2"nna 0T Ni'u — 4800
iYe\IL

M (n)  Npn TIor p — 009

Iwpnn - 8882
anme(r)(wn)(o)vornn
wpnn - 8891
Imu(t)(wn)(n)vornn

M2 (n) xpn 7o 'Np — 004
(wn)(o) mion Ji'n 2 - 9422
mn
(wn)(n) miion qian 12 - 9423
wn

(n)(o1r) nw N 1o p — 010
my

M2 (0) Introduction to -0041
(0) n"o™19 0'pann — 2500
D'"NTI9

1IN DIrpIp
W ININ - 997
w9 ININ - 9970
- IT YW1 DO |'N -

%0 (wn)(o) natnn i — 9630
0 (wn)(n) nma i - 9631

(") mwnaTop - 006 T
D'"nNTI9

27N ninio - 8871
MR (N)ANIwD

(wn)(o) nNnipna nx1p — 8892
TN
(wn)(n) nnipna ax1p - 8995
TIN

(n) The jewish book —3115
naT

(x)(n) 101799 2 pannn — 3118
a1k

(2)(n)Tr n%91 N1 'R - 3117

(n) 'mivin nnan'w? xian—-3110
TIN

(wn)(o) 0'ann ,0'win -9111
T
(wn)(n) oann o'win -9112
T

IR 'vLYI YV 11'NO
NIYHINND NIRXIN
NY/JIYNT ININ = PNt DI

WYl nw NN = (wN) W ININ = 1IN D219 mi (N)(0) N2n awpinn YUY NN - IR NRIY - 0020 .
NN =(E) XMW IR ININ NN = 2nX 70 mi (2)(n) XM awpmn -y NI = ARIYD NIT2IN -003 °
1Y NN NN = 2 (maw)(n) ¥7n awpmn -y MIN2 — NIDD'N VRN - 5980 .
90 =[n] ‘Nwono = (N) Tma2 (wn)(maw)(n) X'm awpinn —-NDaNa- nmararnn - 9636 °

mino =[o] ‘ajvono= (1)

DIt = [1] RN = (0)




